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1. (1, 6) and (8, (1)

       2. ((5, (7) and (0, 10)
 
3. ((2, 1) and (8, (3)
Write an equation for each line.
4. m = 4 and the y-intercept is 3
5. m = 
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and the y-intercept is (5

6.
7.
Write each equation in slope-intercept form. Then find the slope and y-intercept of each line. To start, isolate the y-term on one side of the equation.
8. 8y + 3x = 24
9. (5y + 2 = (7x
10. (4 ( 2y = 10x
Graph each equation.
11. y = 3x ( 1
12. y = 
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x + 4
13. y = (x + 3



 

14. The equation y ( 4x = 15 models the number of pages y you finished reading in your textbook after you read for x hours this week.
a. Write this equation in slope-intercept form.
b. If you graph this equation, what would the slope represent?
c. Reasoning In this situation, what does the slope represent?
Graph each equation. Find the slope and y-intercept.
15. 5y + 4x = 1
16. x = 3y + 6
17. 
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Linear Functions and Slope-Intercept Form








Find the slope of the line through each pair of points. To start, substitute (x1, y1) and (x2, y2) into the slope formula.
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